MR

PRARA 2 pSorvy By | Z9%=E B =
BB SRR
BEKEMEL HPPE (EFZ2 O/ 2EE) L=5.00m $ 100 x 84
®100(P) HPPE (%) L=5.00m $ 100 x 6
EFSZAUF ¢ 100 x 90° & 1
EFZ~RUF ¢ 100 x 45° & 1
EFf&F—X »100% ¢ 75 & 1
AHEIEE (P) ¢ 100 x 45° & 2
PVI3A Uk @ 100(P) x ¢ 100(V)| {& 1
FKEMBZT M HREZER)IFLUE $ 100 m 5.3
@ 100 (#f4HaR) |EFTILR ¢ 100 % 90° & 4
BE£E $ 100 1l 2
BEKEMEL HPPE (EFZO{tH2EE) L=5.00m 75 y:N 1
b5 (P) HPPE(EE&) L=5.00m b75 YN 1
HiVP(EEE) L=4.00m b75 x 1
AHEE (P-V) ¢ 100 x 45° & 1
AHBIERE (V) ¢ 100 x 45° & 1
vVsSaq Tk ¢ 100(V) {& 1
BRI —b BRI —b W=150S m 465.0
TUIHFRET RUR—&EY I — L5 100 = 1
®100(P) toH=E H=800 #H 1
TUIHFRET RUBA—AREY I —ILETI#H @75 = 1
b 75(P) o= H=800 #H 1
EXRF INUEK[FQYIF-H3—1F) ¢ 25 = 1
25 YRILAVR(ZESRFTA) ¢ 100 & 1
takUIET YRILES KGR AER) » 100 % ¢ 20 1l 2 [a7—&E
ALAHMF ¢ 20 1l 2
HRILSKIE  |HIVP L=4.00m ®20 PN 1
®100x ¢20 |4z )LAR ®20 & 4
Hiv 4y ¢ 20 1l 2
BRI —b BRI —b W=150S m 2.0




FHE

PRARA 2 pSorvy By | Z9%=E B =
B8 HF SRR
BEKEHREZL |RUIFLUERBRL ® 100 m 4487
®100(P) RUIFLUELIERT ¢ 100 a 4
RUIFLUERFI (RUEES) $100 10O%F | &FT 84
RUIFLUERFI (RUEES) $100 200#F | &fr 3
AN=AIHEET (P) @ 100 a 5
AN HILBEET (V) @ 100 = 1
BEKEHREZL |RUIFLUERBRTL ® 100 m 5.3
RUIFLUEYMT 100 a 2
d 100 (MEfEfTR) | RUTFLUOERF I (REES) ® 100 200#F | &Fr 4
T72h—HIE fl. 4
TUh—E&E T 4
BEKEHREZL |RUIFLUERBRTL @75 m 10.0
75 (P) BEIEEE-LERZRT @75 m 4.0
RUIFLUERFI (RUEES) 75 A 1
AN=HIVHEFET (P) 75 = 1
ANZHILHEETI (V) @75 a 5
BRS—k R —k W=150S m 465.0
U HHRET U FERET ¢ 100 = 1
ANZHILBFTGRYER) ¢ 100 A 2
AEFRET H=800 #H 1
®»100(P) BENRE 5'e 1
TUIHRET U FERET ¢ 100 = 1
ANZHILBFTGRYER) ¢ 100 A 2
REHET H=800 #A 1
®75(P) BENRE 3¢ 1
ERFHRET INBIESFRET ®25 = 1
®25 YRILAKEFREL RIVEHA »100% 25 & 1
HERCAAT ¢ 32 ] 1
ERR—K BRI —b m 465.0
fakUET YRILAKRFRETL RIEH $100% ¢ 20 1@ 2 (24
YRV K HERCAAHT ®20 a 2
@100 % ¢ 20 E-—ILERmEKL ®20 m 2.0
TS FT ®20 = 12
ERR—K BRI —b m 2.0
KR ER
W KEABR EKERERT HKERE =] 0.23 (L/2,0008




T T % E %
% L3 B & | M8 o 2 HEtsE
BE R ELR

BLKEMEXT H=800 | MFE®D 060 m x 0985 m X 20 m = 118 m3

?ggﬁ’;ﬁﬁlﬁ ) sy |_HE800_| HEQ 060 m x 0975 m X 4510 m = 26384 m3

XARE H=800 | BRE® 060 m 0950 m 140 m = 798 m3
BE = 273.00 270

H=800 | EFE®D 060 m X 0325 m X 20 m = 039 m3

R T 5R) H=800 | BFEQ 060 m 0475 m 4510 m = 12854 m3

H=800 | EFE® 060 m X 0290 m X 140 m = 244 m3
BE 131.36 130

H=800 | EFE®D 060 m 0560 m 20 m = 067 m3

ML T ) H=800 | KFEQ 060 m X 0250 m X 4510 m = 67.65 m3

H=800 | EFE® 060 m X 0490 m X 140 m = 412 m3
BE 7244 m3 70
HrumET 27300 m3 - 7244 m3 / 0.90 = 19251 m3 190
RiE TREERERIGE) t=10m RC-30 060 m x 20 m = 1.20 m2 1
TRERBRI(EE) t=15cm | RC-40 060 m x 4510 m = 270.60 m2 270
LTERBRT(EE) t=12cm M-30 060 m x 4510 m = 270.60 m2 270
& TRERERI(EE) t=10cm | RC-30 060 m x 140 m = 840 m2 8
TERBI(EE) t=8cm M-30 060 m x 140 m = 840 m2 8
RAsTHET t=3cm FRAL 060 m x 4650 m + 20 m = 28020 m2 280
AEIHASSHET(HHE)| t=4cm EH 180 m X 20 m + m = 360 m2 3
KIEIHAsTHET(B8)| t=5cm B 150 m X 4510 m + 20 m = 679.50 m2 680
KIEIHAsTHET(B8)| t=4om B 080 m x 140 m + = 1120 m2 11
AsFHZERRTIMT T t=4cm 46500 m + 200 m X 400 & = 18680 m 1868
AsTHZEMBER T t=4cm B |1emEE = 14.80 m2 14
AsTHZEMBER T t=5cm B |1emEE = 679.50 m2 680
{RASEHEERRBE T t=3cm 060 m x 4487 m + 20 m = 27042 m2 270
AsTHERER - T B8 x0.05 + HEX004 + R &4 x 0.03 = 4268 m3 42

BE R ELR

KB T [BIRET H=800 | HFEQD 060 m X 0975 m X 20 m = 117 m3 1
244 HHIERLI(SR) H=800 | MTEQ 060 m 0475 m X 20 m = 057 m3 05
HIBERLIT(FEELT) | H=800 | WE® 060 m X 0250 m X 20 m = 030 m3 03
HrumET 117 m3 - 030 m3 / 0.90 = 084 m3 0.8
TRERERI(EE) t=15cm | RC-40 060 m 20 m = 120 m2 1
TERBI(EE) t=12cm | M-30 060 m x 20 m = 120 m2 1




$ 100 HPPE Fd /K & b & &
UEE (m)
= KA/ P X L I
BOEM B R |0 ERE S | AR I %
B
Z.-1 ) Z.-3 Z.4 2.5 (OO ()
HPPE 100 5. 000 2. 000 3. 000 5. 000 2
HPPE 100 5. 000 3. 000 2. 000 5. 000 1
HPPE 100 5. 000 3. 700 3.700 1. 300 1
HPPE 100 5. 000 5. 000 5. 000
HPPE 100 5. 000 5. 000 5. 000
HPPE 100 5. 000 5. 000 5. 000
B 30. 000 23.700 5. 000 28. 700 1. 300 4
30. 000 23.700 5. 000 28. 700 1. 300 4. 000




